MathLinks 9 Practice and Homework Book

Chapter 7 Answers
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7.1 Multiplying and Dividing Monomials

(&)

a) product; — x-tiles
b} division: dividend; x-tiles

¢) numerical coefficients, exponent rules

. Example: To divide monomials algebraically,

vou can divide the mimerical coefficients
and then use the exponent rules to divide the
variables.

3. Orientation of models mav varv
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7.2 Multiplying Polynomials by Monomials

I.a)area b) (2x)3x + 4) = 6% + By
2 (—2x)5x + 6)= (—2x)(3x) + (—2x)6)

=—10x— 12x

L

. Order of factors mav varv. Examples:
al (29005 + 2) b (450 + 230310

e+ 1 dbi2x — 2){—3x)

4. Orientation of rectangles may vary. Examples:

a) 469 5
23g

b} 5 7.2
217
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(ML9 Practice and Homework Book, Chapter 7 Answers continued)

tn

. Orrientation of tiles mav varv. Examples:
P P | — — 7 ChapterLink

1. a) 7a8y + 216 units b} 32y + 9 units
€} 5129* + 288y + 40.5 units’ d) 20 bundles
) 12 800y? + 7200y + 1012.5 units®

Ca) (4374R + 14584p + 9724) unats®
by i81a® + 27dp + 184 units®

Tt

3. Example: A square carpet with side length

7.6 + 8.2 m1s cut into 4 square carpets of

equal size. What are the side lengths of the
Goad (1220 —4z) + (1.223(2y)

_ smaller carpets?
by (—2el—ed + (=3 N —e) + (d)i—e)

Answer: (T.oa+ 82) =4 =({1.9% + 2.05m
7. a) —49? — 49vx
b) 28x — 12xp T Vocabulary Link

ch TU lab + 85 — 0.7be Across
I} 5 — aof 5=— a P [T
2 gt - A, distributive property

%. Example: Down
a)(ew—4)m b2 — 2w) m? 1. polynomial
% a) 48.3 + 2m, where m 15 the cost of the catch 3, ml:llnmujal
of the dav

B (0151483 + 2m)
ch 8993

3. spider map

4. binomial

7.3 Dividing Polynomials by Monomials Chapters 1-7 Review

Loa) 52 =20 b) Sx + p0 25—
€) 2xF = xp T = Jod - S5c+ 6 d)cand &
e)=20.5 + ¢+ o T = Jed - 5¢ + 6 1) 5; none

. numerical coetficients; variables; quotient or
divisor; divisor ar quotient; product; dividend

[

. dividend; quotient; model
A+ B =2 dv+ 4

(=]

LA p= 2x+3 b y= —__r-llx or—0.75x chy= 3
oa) 1la® by 1572 - 187

4.4x%6x 153 4.2)=3x—2p b) 32+ 16
Sdx—2 5. Example:
I 1 a) |
6. 2x =3 ,-"II II"-.I
Orientation of tiles mav varv. Example: e
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b
Sxt+ dx + 20
A +2x+ 9 - —2x — 11
ir+Ix+5 —x*—4 x+7

Ga)l.im b)E6E2om ) -irm

-0 Nuymber of | Cost
People (3)
] 100
10 150
20 200
30 250
40 300
Iv} ¥
¥

EERERERERE
Number of Pacple
c)F225 ) 50
¢) Example: C = 5n + 100, where Crepresents
the total cost in dollars and » represents the
number of people.
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